
Spring 2024

Submitting HW Tips

HW # 2

1 Page 63: #1.65(a). (Find RREF).

2 Page 64: #1.67(a).

3 For what value(s) of k, if any, will this system be inconsistent ?{
2x+ ky = 4
x+ k2y = 2 + k

.

4 Which sets are linearly independent and which are linearly dependent ?

v1 v2 v3 v1 v2 v3

(a) S =

{[
2
3

]
,

[
1
1

]
,

[
−1
2

]}
(b) S =

{[
1 2 − 1

]
,
[
2 2 1

]
,
[
0 1 0

]}

A1 A2 A3 A1 A2 A3

(c) S =

{[
1 0
0 1

]
,

[
2 2
2 2

]
,

[
1 3

−2 0

]}
(d) S =

{[
1 0
0 1

]
,

[
2 2
2 2

]
,

[
0 0
0 0

]}

f1 f2 f3

(e) S =
{
(1 + x)2, (1 + x2), (1− 2x+ x2)

}

5 TRUE or FALSE Questions:

(a) If S =
{

v1,v2, · · · ,vk,0
}

is a set of vectors which contains the zero vector 0 (i.e., 0 ∈ S),
then S is always a linearly dependent set.

(b) If S =
{

v1,v2, · · · ,vk

}
is a linearly dependent set of vectors, then every subset of S is

also linearly dependent.

(c) If S =
{

v1,v2, · · · ,vk

}
is a linearly independent set of vectors, then every subset of S is

also linearly independent.
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